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*�(�+��(��(�#�$%��*,'����-
�.��/��(��'�$�������+���

��������������������������

�$0,�������$00��������(�1(�23%�������	�4���
��

���������
����
��������� �

��"�#���!��(��'���%�,�(��5�&��
�5,�������3�,�����*�����!��$6��2
�4�7��(����(�#�$%��*,'����-


�(�#�$%����'��

• ��
�5,���8��������'�.��#����*'��������*,��$%�9�:�
������4%� �������	+�

• ��3�,��8 �'������;�,3%�������	��������<�'��='��*,��$%��2��=%����*	�#�$%������>+�
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���� !��"�#�$���

�%&���.�?3�(�����'��@�	� ���������<�����2&�%���((�/�$%�1�A#��������B��
��������$�*,����*�%

%����'�C�D3E%*,��$+���

���'���%�,�(��(��30�'���.(�'�F��&��G�&��$���
�HI,�����2%(�#�$%�J�=%��+��

(
)�� �

K+ *#�'�$%�� ������A
�4'�-%��(������%��-%����2%�+�

L+ *,��/����.(�%��(�(���%�.(�%���*-%+�

M+ (�#�$%������������ �'�4'�-3%��'7���(�I���> �'��������!����:�"��)���
�3��� �(�+

�$%�.*�%�	����(�#+�
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�(��(�$?3�'�4%� �����'�H,��<������*,��/�����?�(�$5����'��������H,���

K+ �)���*-%�

L+ �)�45 ���3����

M+ ��)��
���=-	�

�*+� �

�$5��*#�'���N�	��)�(�2'�����*,��/����+$O�����P	�!��������$5���.�7�Q��$%�4�%��6:������'��)�(�2'�

*,�+��

�, !�"-)��

���������(�#�$%�$-�
�R�:�$5��<�'�$@�	�*#�'�$#�S��0N�4'�&�Q�P	�(��%�T*�����'�Q�)�U����+��

�������.
�/�0����1� �

�����0�����0����1�� �

2	������18���� ��� �'� ��� �� *	�%�$%�<���� .�7� (�#� �6:� .�7���� �'� (����������	� *,�)�'� �/���'��"��,�

*�(�$%��%�(��(�"�����V�+!������I�3	����������	�1(�2
�4:��1�����	�&�&������(���	�W�+�� � � 

(	������1�������	�*,�)�'��'�R��,3%�.�7���������X�3#�����)��'��Y��������)��'�(������+F=m.a ��

(�������1������	.*%)�(�����'�452���Z� ���45 ���Y��T["��(�������%������(�<�'�Q�����(�������

*	�#�$%�(�����3���+��

.������(�<�'�4'�-3%�����	��(���*-%����Q\�5
�1����(������Q*,#�'�$%��YI���9�3E%���(�*3%���+��

�����3��
��.4+�)�����1�0��������56�.4+�)�����1� 

��
���0%���X�O�4:��� �'� ���*	�#�$%�X]���?�*����5���'�$����	� �'� (�"�4:���B"���3���� �(� .�7� �(

(��(�Z� ��@�	���#���:���F'�%��'�����-3�%��@�	+���� ��	              ��
�� �
�
 � � ��� ��
�
 

�1�%���<����(�������'��'��)���*-%���.(�'��'7����'�
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������$�������%�2/�3�m�)'# � )���� ������������
�����%�	�������$� �����
	����	��

./
�������'�,��

� � ��� ��
�
 � 
� � &'&( � )�*�� & � )�
+ �  � )��,�)'# � )����
 � -'## � )�
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��;����	�
	�� ����E7�������%� �6���8�3��	�
" � 3'4 567�����%�&	��������Kg�& � )�
+��

��'�� F/�G��
�����%�>�?��:%
��
�����,��

� � �./ ��2/
 � ��
�
�H9"���m�@7�
��I��� J��?����1	K�%
��

2/ � 89�:;� � 8&'&(�)�<))
�&�)� =


>'? @ &'= � )�&% �� �

��*�8������*�89�g:� �AB � " � 3'4�& %C
 

DE � � � - ')(= �F�
 

�*�89��:�
��;�g�<�$�*��
�=����>��� ���G � H2/ I J2/ K
 

g�8(��*	�3���� �G�8g�G�6
�����
�� 2/�8<�%!�G�2#��

h�8�P	�(��%�G�6
����

2�7���������'��(�%80kg����:����'����.���(���*%��(����$��5�S����4"�(��(250km��%!�!��Q*,��$%������<

�����3�0	�+<�%!�G�2#����$
��:��(�^E#��!�����������2/ � &=���� �( �P	 �3��/ (�# �*-N _�����

�4��8���*-%�*��'��*3'�g�*�)���*'��P	�(��%�G�6
����(+����� � H2/ I J2/ K
 

h=250km 2/=6400 3'4�� � L&=�� I  #�&=�� M
 � �� � 3'�4& N � �� �� � 4� � 3'�4& � ( &'3� 

�=��,%����"���������	���:%
��
�B��;�����:�7�L������� � ������� 3M��.����.?�FK���,��

����=��,%��:%
��
� ��./
��7�'F���N����������?�����C��0�4+�N�/
	��.���	���	����	��,��
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����7�'��
����7�8�O3�
�27
	�P��

QJ
�P��	79L��/	3/������

8�P����� 3�
���1���.;���

R�P�����.��S���	79L���	��T���

���������	�
��
����	�
	���'��.����4+� ������UO������4+����7� ���.����	�� �7���

@�V�������	���:%
��
�
��./��7,��

�#8��	�	����4�� �

�8��?����@8�4�"�-9��.����	��.4�� �������*�����4�� �

������ !���-3�%�����(�2'�!��4�����Q1�`�*,	�%�*,3���(�2'����-'���	�����%!�Q��

����6
&��(�2'��!������(�2'���I��Q$��?N�*,	�%�*	�#�$%��3��/�$�:������0��Q�+�+�+�� �

�a���*,N��'���	��%��� ��(�(��)V�3����W������3����(�#�$%����'SIQ CGSQ %)��)�!��$���?	����$�����

*	����5�+��

��

��SI )MKS(  CGS  $���?	����%)$������

���	��N dyn  Pondal lbf 

�1�`��M cm ft ft 

���%!��sec sec  sec sec 

�����Kg g lbm lbm-Slug 

����
�
�

�
�

�

Lbm

Kg

slug

1

1

1

������	���
��������$%��
�
�

�
�

�

Pondal

N

Lbf

1

1

1

��X�3#

�
�
�

�

�
�
�

�

�

2

2

2

1

1

1

s

ft

s

M

s

ft

��*,��$%��*�S+��

1 slug = 32.2 Lbf                    1 Lbf = 32.2 pondal 

���A����@�#8��	SI���B�C����4��	� �

���D6

@*�E�F���

8��	����5���

M Meters�V�3%W��Length�V1�`W��
S Second�V��	�
W��Time�V��%!W��
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Kg   Kilogram�V��/����W��Mass�V���W��
N Newton�V<
��	�W��Force�V���	W��
N Newton�V<
��	W Weight�V�!�W��
3

/ mKg  3
/log meterramKiV��3%� �'� ��/� ����

R2�%W 

Density�Vb�DE%����W��

t 1000 Kilogram VKccc���/�����W��Metric ton�V3%�<
���W��
N.m=j Newton.meter=joule�V� 1�d� e�<
��	

�3%W��

Work �V���W��

N.m=j Newton.meter=joule�V� 1�d� e�<
��	

�3%W 

Energy�V�d�	�W���

��-� A�����A����'��G
8H��,
�
I���A����.4SI��� �

*��8�����
I��.4� �'��G
8H��@�
4� �

Mcfghc����3%m����C��ft��

Mijhc��1�d���*	�S–�C����

Kcjck���3%��4��%��

ffghf��<
��	��*	�S��

ikhKf����/������l[����

fffg��<
��	��*	�S�������

.)������3���SI����m�=%��3������US���Fps�*,��/�$0	��/��3������+��
SI:Standard International 

FPS:Foot-Pound-Second 

MKS : Meter-Kilogram-Second 

CGS : Centimeter-Gram-Second 

��������������� �

QJ
� P *0�1� �
10000000

1��E7� 
����9�����W7��L	���%
� �����'J
�QD�����X����-�;���� 
�3/


�'7������	3�,��

8�P7�4
�'Y� ��
��4�3Z7	��[���)7
�%
��0�$�@�
�)�	;��\�����R���X�K�%
���	]��Q7	?��	3��E

��
�:�	�,��
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� ��� 	�
	�� �7���L� ��� ����  �� �31����  ���S� E7� ��^__`_^abc� �7daefc��4
�'Y�  �� 
9J� ./


�.M��4
�������	3�����7�Q7	?���7	��7��P 

�Q7	?�� �7	$+� �� �7	��7��� P� 4��%� ��� ����  ���31����  �s
8

103

1

×
���� 	3��E7� 
�� �7���L� ��

�'7��,��

� 3���P������ �����C��D��
��	3��E7����#K�2/���4+�����	�� ��&�7�7	7
����#L�W'�� ���
� *

�	�
	��N��*�/� ����	M0���������.�#Y�����7
� *0�1�����
�:�	��8�O3�
�:���UO���.�#Y

./
�	3��E7, 

���������������� �

�������������������������E7�����%� *0�1� �
86400

1������� 3M�� ���S�E7�%��� ��F�,��

�
�
����������� !�����������C���/����
�?��%
�UO���4��%�C��� ���

�������������������Y��'7������ ���S�E7�
��@7)/�@�
�%
,��

�9192631770 

�"����������� �

	?�"������������	3�J�E7� ����	���
���1000 cm
3����������UJ�$�8+a��N���*�/� ���

�'7���&	��*���E7���
�,��

���������
��#�$����
�Y
�%
��$	���7���
9J��'3���E7�%
�	3��)���7�	3�����	�
	�������4�������7

�@�� �� 4��
�$� @�� ��� ���	�����UO��� �������  3���� ��7�.�L� ���  ���7�������L�2/��

����:��/����+��3���,��

� ���>?� �� �� �

10
-1

 ��/�d ����da 10
1��

10
-2����3��/c ��3��h 10

2��

10
3����*��m ��*��K 10

3��

10
-6����	���µ ��
�M 10

6��

10
-9�������n ��
��G 10

9��

10
-12������Lp �
	�T 10

12��

10
-15����3�1f ��3'Lp 10

15��

10
-18�����+a �
)�
E 10

18��
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�  �� 7����  �����"� @�A����B�@ Scalar Quantities:(���� �
���� �3�
�� ��� ��'��  �� �7���.���

��'7���	J��/
��7��
�:�	��C�����
���	��UO���
�����+�4
���������+����)��5����54��%�5&	��Bg�

���1�5�h	�
�5�J�
���

� ������ �!����"�=��,%�@�Vectors Quantite:(���
�
�����)�����
����	��:�#Y� ���7��3���

�'7��������
�	��C�����
���''�������	�L���
�	��A���:�Y�;�%
����'�������.��,��

�Bg��P�	���58�3��5.Y	/�5�7�\�����

����3��:��� @��3���2$� :��L�	�������3�
�  �� 
��.�	"� 	�����
�3�
�  ��./
���
��.��� �

�'�����B0��.�	",��

�(������	�
���
��4���L�4+��I������ ���'������4�������*
�
�H	"���.�#Y�E7����
���
�	��	�

�i*�����;� �F��2$��������
��4+��7���:�	�������4���L�4����
��.�#Y������	!�������4+����)�

�������
	;@��,a��7a��

*��
4��
���J
	��� �

KW .!�*	������( 

LW ��3��������(V(�*3%�W 

MW ��Y������(V��W 

���*��
���8����.4�*��
4�@�K���
�����LM3��N

O�� �

KW �n�&����m����'��@�	�����!�!��$����' 

LW .*#�.(�(�(�*3%��R�#��'��@�	 

MW .*#�.(�(���(�'���Y3	�����*3'��o�-	�C�D3E% 

*��
4��
�G����PF���

��4%���B"��(�'�����$5�-3�%�$O���B"�Q�	��Y3	���(�!������'�������(�*�%�$%����&�B"�<��������'���(�

(��/+��

��
� �

� �
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*��
4�	��@
4�
4�� �

'��(*,#�'�.!�*	��������Y�����Q�3����������*,��/�����%������(��+��'����$��@%�
���'�
�U�����1�p%����, ��'

�� ��OPQ�����������(+��

 
 �M��@�#�����*��
4��
�����

��������'C8 )Free Vector (���a(�"�C�!��%��'�*	��
�$%���(��*	�$?3�'�a�
���=-	��'�����������(�'��I'

q�!����4S�����(�'�*,	�%�(�#+��

�����Q;�� 8)Transmissible Vector(�(�*	��
�$%�B-������������(�'��I'���a(�"�4%���B"�(�*3%�� �

(�#+��

R����4�=�8�9����)Bound Vector(�(�������(�'����^E0%���3�������
���=-	�����+��

�*��
4�	��@'*��"#��

��#��(����*,��/�!�����������(�'��(*,#�'�������C��
������(�<�2%�B��+��

 
�����	��(����30/10N���20N 1�� ��=-	A 40N-m  *#�'�$%��(�<�5��$���*,3���!���������	��(�<���'�,'�Q

������30/��'��@�	����	��=-	�1B����*,3��	�!���+��=-	�1����'��'�	�����30/�����(����! B�*,3��+��

�Y	)�C��
���'���(�'��(��!������$�������o�'�%�����(�'�(�"��'���(�'��(���'��'�<���'�,'+���

�#	
���@8�4�.9HO�� �
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